PLANT ENTERPRISES PRODUCTION

	1	LANIENI	<u>IERPRISES PRUI</u>	DUCTION		
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
FORESTRY						
Pulpwood						
Hardwood				27,679	cords	
Pulpwood (Total)				27,679		
Saw Timber				.,		
Hardwood				3,088,854	board feet	
Saw Timber (Total)				3,088,854		
Total Pulpwood, Chip & Saw,	,					\$3,164,593
Saw Timber FOB Mill						
Total Forestry Stumpage						\$1,366,375
Forestry (Total)						\$3,164,593
FEED GRAINS						
Corn	*	166.0	140.00	23,240	bu.	\$52,755
Feed Grains (Total)		166.0				\$52,755
HAY FOR SALE						
Grass	25	2,200.0	4.00	8,800	tons	\$440,000
Hay for Sale (Total)		2,200.0				\$440,000
HOME GARDENS	2,025					\$607,500
NURSERY CROPS						
Fruit and Nut Trees	6				acre	\$1,600,000
Floraculture & Bedding	*				acre	\$200,000
Plants						
Woody Ornamentals	*				acre	\$500,000
Foliage Plants	*				acre	\$10,000
Nursery Crops (Total)						\$2,310,000

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
PECANS						
Improved	10	400.0	260.00	104,000	lbs.	\$135,200
Native	40	550.0	750.00	412,500	lbs.	\$412,500
Pecans (Total)		950.0				\$547,700
RICE	*	186.0			cwt.	
SOD PRODUCTION	*	200.0			acre	\$1,080,000
SOYBEANS	23	10,288.0	42.00	432,096	bu.	\$2,683,316
SUGARCANE						
Raw Sugar	39	35,192.0	6,750.00	237,546,000	lbs.	\$28,861,839
Molasses		35,192.0	203.00	7,143,976	gal.	\$1,035,877
Sugarcane (Total)		35,192.0				\$29,897,716
VEGETABLES						
Irish Potatoes						
Fresh		3.0	145.00	435	cwt.	\$15,225
Irish Potatoes (Total)		3.0				\$15,225
Mirliton		1.0	2,000.00	2,000	lbs.	\$4,000
Mustard (Fresh)		5.0	600.00	3,000	doz. bunches	\$21,000
Okra (Fresh)		3.0	175.00	525	bu.	\$13,125
Onions		1.0	100.00	100	bag (50 lbs.)	\$2,500
Green Onions		0.5	1,000.00	500	lbs.	\$1,000
Parsley		0.5	1,200.00	600	doz. bunches	\$4,200
Peppers						
Bell		1.0	760.00	760	bu. (28 lb.)	\$11,400
Peppers (Total)		1.0				\$11,400
Shallots		2.0	1,200.00	2,400	doz. bunches	\$14,400
Snap Beans (Fresh)		2.0	125.00	250	bu. (30 lbs.)	\$6,250
Southern Peas (Fresh)		5.0	78.00	390	bu. (24 lbs.)	\$9,750
Sweet Corn (Fresh)		7.0	600.00	4,200	doz. ears	\$14,700

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Tomatoes (Field)		15.0	1,200.00	18,000	lugs (20 lbs.)	\$324,000
Vegetables (Total)		46.0				\$441,550
WHEAT	8	3,248.0	72.00	233,856	bu.	\$760,032
TOTAL ALL PLANT ENT	ERPRISES					\$41,985,161

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					_
Crawfish (Farm)	25	2,100 Acres in Prod.	805,000	lbs.	\$483,000
Alligators (Farm)			390	ft.	\$6,630
Aquaculture (Total)					\$489,630
FRESHWATER FISHERIES					
Crawfish (Wild) **	50		1,397,439	lbs.	\$897,016
Freshwater Finfish **			432,128	lbs.	\$148,177
Freshwater Fisheries (Total)					\$1,045,193
MARINE FISHERIES					
Shrimp **	17		27,200	lbs.	\$29,376
Crabs **	44		125,000	lbs.	\$87,500
Commercial Finfish **	165		632,100	lbs.	\$783,804
Marine Fisheries (Total)					\$900,680
FUR ANIMALS			4,775	pelts	\$35,049
ALLIGATORS (WILD)			3,832	ft.	\$80,483
HUNTING LEASES					
Waterfowl	300	100,000 No. Acres Leased		acre	\$5,000,000

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
HUNTING LEASES All Other Game	300	70,000	No. Acres Leased		acre	\$385,000
Hunting Leases (Total)						\$5,385,000
TOTAL ALL FISHERIES	& WILDLIFE ENTERPR	ISES				\$7,936,034

^{**}The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES	Troducers	Troduction	Troduction	- Ivicusure	v arac
Steer Calves			400		0177 15 6
300-400 lbs.				head	\$177,156
400-500 lbs.				head	\$429,089
500-600 lbs.			920	head	\$514,349
600-700 lbs.			580	head	\$369,460
Steer Calves (Total)					\$1,490,054
Heifer Calves					
300-400 lbs.			384	head	\$154,815
400-500 lbs.			981	head	\$456,239
500-600 lbs.			1,035	head	\$546,309
600-700 lbs.			240	head	\$143,520
Heifer Calves (Total)					\$1,300,883
Yearling Cattle					. , ,
600-700 lbs.			490	head	\$312,130
700-800 lbs.				head	\$213,900
Yearling Cattle (Total)			310		\$526,030
					Page 4 of 6

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Cow-Calf Pairs			250	pair	\$237,500
Cull Cows			670	head	\$275,125
Cull Bulls			40	head	\$36,738
Cattle & Calves (Total)	28	7,200 No. Cows			\$3,866,330
HORSES					
Race Horses	*		15	head	\$150,000
Show Horses	30		100	head	\$400,000
Recreation Horses	450		1,000	head	\$1,500,000
Horses (Total)					\$2,050,000
SHEEP					
Wool		50 No. Sheared	350	cwt.	\$98
Slaughter Lambs			12	head	\$1,463
Show Lambs			10	head	\$2,750
Stocker Sheep			30	head	\$2,250
Cull Sheep			20	head	\$1,100
Sheep (Total)	12	50 No.Breeding			\$7,661
		Ewes			
GOATS					
Show Goats				head	\$4,625
Slaughter Goats			30	head	\$3,150
Stocker Goats			35	head	\$2,975
Cull Goats			25	head	\$1,500
Goats (Total)	*	25 No. Does			\$12,250
SWINE					
Show Pigs				head	\$9,900
Feeder Pigs			70	head	\$3,220
Slaughter Hogs			80	head	\$12,480

ANIMAL ENTERPRISES PRODUCTION

	1 11 11111	TE ENTERN RUSES TROBECT	1011		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					
Culls			20	head	\$2,240
Swine (Total)	*	No. Sows			\$27,840
TOTAL ALL ANIMA	AL ENTERPRISES				\$5,964,081
IBERVILLE PARI	SH TOTAL				\$55,885,276